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| HARYANA SSC MOCK TEST-8
l.  Find the odd one that does not belong to the | 1. % 4 59 597 & =407 1 §7
[ﬁ]mlp-k B P A T B} FH
I on &
i C) T D
[€) Pencil [O) Brush 3 '15} 996 1 30 - P o) 3w
2 15: 226 - 20 : 7 t E-"nl-‘mﬂ" s B 401
Eg]] ﬁ [[g]' gi (C} 200 D} 201
) i i 3. ACEG:DFHJ:QSUW:?
3. ACEG:DFHJ : QSUW:? {A) TVNZ (B) TVEX
(. TVIE VX IC) TVXZ (D) XVTZ
[C] TVXZ (D) XVTZ 4. wm vafed @ Wt T e vEn o fEem
4. Fan is related to wings in the same way e I
wheel is related to- e
[4) Found [B] Cars IA) B #m
[C] Spokes O} Air (C) fovr i) ¥
5  Video : Cassette :: Computer -7 5. oifeE cFEE : cF g 2 ?
[A) Reel [B) Recordings . - A T (B frFfen
[C) File = —— — = EI'F?"- D) R
(% The position of how many lettersin the w = . .
LOATHSOMENESS mxmsuugm:ss = F o i‘a_ﬁr:t_ are F
when the letter Feafey e o = {2 T = F e F S
arranged alphab e
[A) One
[C} Three
7. If " is =%, ©°§
then answer the
on this inform
G+7x3-8=
(a) —3
[C) 2
B Which numbe
mark i
[A) 758
[C) 856 D}y 819 {C} 856 D] 819
9.  Looking at a woman sitting next to him, [ 9. =79 = 35 9feen F 3= @9 T 2, "9 09
Raman said, “she is the sister of the e F qfE F AR o ofEe 00 o e oane 17
husband of my wife”. How is the woman o
related to Raman ? ) :;FI ) m.
[A) Daughter [B) Sister i<l ) (o) v
[C] Wife D) Niece 10, IT =9, 1008 Tt ®19 0 {29 @7
10. What waa the day en 17th June, 19987 (A} THER (B) Hream
(4] Monday B Tucaday IC) T9=m D) FEmfEn
R 5 v AT i A 11, 9 e v w0 A F A St 5 T A
. Arrange the given words in a meaningful LERT =
logical order and then select the appropriate i m =T 9§ 3 aEE W T
sequence from the alternatives given below. 1. wwm 2 =fgE
1. Lung 2. Noatril 3 g Y 4. 79
hiEar magha (A) 1,2,3,4 B 2,3,1,4
(C) 1,3, 4,2 D) 4,3,2,1 ic) 1,3,4,2 (0} 4,3,2,1
|
Mote :The Information Provided here is anly for Befersnce.It may wvary the original.



https://www.rrbrecruitment.co.in/

wwWww.rrbrecruitment.co.in

12. Find the odd one out from the given | (2. €9 w fa%eq ¥ 0 Ay F 999 F41
alternatives. l-""" ACE [B} FHJI
Egll ACE E]' ;":JW (C}] KLM D} SUW
LM 13, AR A=2 M=26Z=52 @CAB ¥ i 1 Tm
13. A=2 M=26 Z=52 then the sum of the :
letters in CAB will be B
(A) 624 | 12 (A) 624 | 12
[C) 312 o) 325 cp 3z [ 325
14. What will come in place of the question | 14, =% =% F @@ w ¥ o0 ¢
=1
S 3 31 37 14 25 16 81
21 37 14 25 16 81
58 a0 ?
58 29 e (LYRES B 91
(4) 41 B 91 IC] 65 D) 97
s ;CJ 63 A lfD' 97 —— o Ffv=a Tz Wi ¥, ROBUST ¥ ONATRS ¥
B n a certain o e E..I:I.B'LIHBE 18 ﬂ' £ L
coded as QNATRS. In the same language ifes e 3w W A ZXCMP ) F Ffe
how ZXCMP will be coded 2 . = | = e
(A YWBLD = I B] YYBNO
[C] AYDNQ -~ = - (CF AYDND (D] AWDLQ
16. A man can row up el 16. wF =EF 16 TR T O9F 9 U F withs TE
dowmnstream at [l i man s T L1
et Giwtall % Hﬁﬂﬂﬁ?ﬁ'ﬂ\?ﬂ?ﬂ'ﬂwmilﬂﬁﬁﬂ
(A 19 A
[C) 17
17. Preeti apends 30% B
and 40% of remaiyg ¥ TE
she spends 25% g 5 W{E:
income is ¥ 24 {7 T wE A T
aaﬂ.;iga. ol o ) 9 T
[A) ¥ 63,000 == AA Hi
[C)] T 63,500 w
18. The difference of s
for 3 ve i ] { 1 ! - e Y :
uimlin Sy g | AB ‘_I T EO0 T 4 T
annum is g = 20§ 9
(A] 2.5%
[C) &%
19. Which succesive dmmunt in the f|:i].1.1:r'|'.||r|n,gr i c:
is greatest? IC] iz o) IEH_B
[A) 20%,5%, 10°% [B) 5%, 10%, 20% 19. 1 % § F-m FPA gz w4 2| E7
(C] 10%,20%, 5% [D) all equals (A 20%, 5%, 10% (B) 5%, 10%, 20%
20. Find the compound interest on ¥ 8000 at (C} 109, 20%, 5% (D} |9 Fo=Er
8% per annum for 2 years it is compounded | 20, ¥ 8000 = & wHEA IE =09 5 9N @ TaEE ==
half-yearly. T F AR == oA wA
(A] T1358 (B T1358.86 (A) ?1358 (B %1358.86
[C) ¥ 1369.65 D) ¥1465.32 (C] T1369.65 D) 2146532
21. Th £ 15 by is 25 If 4 i ol el
s A e e SR oy 15 e A 25 8 A w0 wem A 4 =
subtracted from every number, what will be & i
new mean? = A, CFH A Sy 7
(A 29 | 11 IA) 29 B 1l
ic) 21 o 19 1) 21 o} 19 _
22. Aexceeds B by 40% and B is less than C by | 22. A,EH4D%W?WB,CHED%M*,?H
20%, then A Cis : ArCE-
(A] 28 : 25 (B} 26 : 25 ; ,
[C)3:2 D)3 1 (A) 28:25 B)] 26:25
(C) 3:2 D} 3:1
|
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5.

27.

3L

Find the value of

BT3xB 73x8 73 +4237x427Tud 27

B.T3x8.73=873+423T=4237=427 23 873x42T—B.T3x427T+42Tx4.27
873x427 B 73x427+4.97 w437 A F
[A) 11 (B 13 A} 11 i) 13
I
fc 1
€3 o2 ) 5 D) 12
The average of three numbers is 28. The . . . .
first number is half of the sccond and the | 24. 7 T 9 <fwd 28 F1 v@el wen 39t = e
third number is twice the second. The third ¥ o Hroi S e F I f A e E-
number is (A} 18 B 12
[4) 18 B 12 (C] 36 D) 48
(C} 36 . 25. & = T 12 T4 T w0 5 0 =24 8w 4

8 men and 12 children can do a piece of
work in 9 days. A child takes double the
time to do the work than the man. In how
many days 12 men can complete the work ?

1
) 10 days

B l4daya. =

(€ 2

wF T T T A o W G S o A T
=7 2 ¥ 12 =F 39 FW F1 W Fr w55 87

1433

1
1A) 105 TR 2]

1
(D) 135

35% of the pop

If the total pnpulatmn is 6411]!]' I:ht AN A S #-
population of females is - (A} 35255 (B] 28845

[A] 33255 [B) 28845 IC) 30295 (D 29835

[C) 30295 Oy 29835 30. wE FmE o R S e m e haE =
A train is running at a speed of 90 km/hr. e For T 3

If it cruaaraaaiglialm 10 sec., then the " ﬂEE!_'- i §, @ e
length of the train in metres is Ft o e A T

(A) 150 m (B 324m (A} 150 B 324 H=

[C) 900 m () 250 m IC] 900 Hwe (D] 250 =

Who had not participated in “Swadeshi 31, TR aEEe d TR um aE o P
movement” ? i h #

[4) Farmers (A) fFmm 3

(B] Womens (B) " 5

[C) Students (C} =5 A

[ All of them participated

Vasco da Gama came to India for the second (D) ¥ # =% 3 v R

S 32. SnFErT I 90 YEA F9 ol

(A) 1501 B 1502 (4} 1501 B 1502

(C) 1503 O 1504 (C} 1503 D 1504
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35.

ar.

41.

432,

“Spam” is related with-

[A] Art (B] Music

[C) Game (D) Computer

A stick partly immersed in water appears
bent due to

[A] Reflection [B] Polarisation

[C) Scattering [0} Refraction

Who was the first Indian to win The Nobel
Prize ?

[A) CV Raman

(B) Rabindra Nath Tagore

fC} Har Govind Khurana

(D) Prof. Amartya sen

A method of growing plants on a lquid
solution of minerals is known as -

[A) Hydroponics [B] Herpetology

[C) Hydrotropism [D} Symbiosis

Which one of the following is referred to thl:
first Nuclear Reactor of-india 7
[A) Rohini
[C) Apaara
Lack of hydrogen
[A] Body bends
[(B] Anoxemia
[C] Asthma
(D) Artificial r:ap s
Which Gu'l.rcmuu' AL

(18] Nitmg:n
Who has buflt Thc
Chandigarh 2—

[A] Kishan Chand [B] Nek Chand

[C) Gyan Chand O} Mool Chand

Man cannot survive without taking
minimum amount of

[A] Minerals

[B) Fats

fC] Portein

[0 Carbohydrates

Where ia the Jain Temple of Dilwara
situated ?

(A) Shravanabelagola

(B} Parasnath Mountain

[C) Indore

0]} Mount Abu Mountain

The National Agricultural Research project
was cstablished inm __

[A) 2001 [B) 1999

[C) 1993 [O) 1988

33

35.

6.

i HeAE -
() TG B =i o
IC) &7 & (D) Fgzw |

fRus Fum oF wE AE Ty d T H S
T wAE Fm R 7

(A e (B)
(C) famA (D) =
WA AR FEE e EeE g

(&) =i = (B) Ty S
(C) Tonfa= = D) W == a5

aftE F ™ W W g0 9 # {50 F fEe e
e owm f 7
(4] EmETEER
(C) wEEE

B) FrEmETH
(D) T

PRl A 8 FE-m WA F v T fede

P 7

{A) TfET B =dw

e e D) FfE
ﬁq{nwﬂﬁrmﬂwwmﬂ

41.

42.

43.

(D) =z

HuErE W OF mER HER AN g T 7
A) TFeEs B FF==

(C) 7=E= D] T7==

et = A = e =T =i e 0 e
[A) == B) == _

[C) "= (D) =ERET

T WM A S AR TR w A R 7
(A SR (B s T

i) = (D) Az s v

T T e o e w6 7
&) 2001 B 1999

jc) 1995 D} 1988
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45. Which one of the agricultural system is | 45 Fe-@ o Tnfd 219w w Y i s 9=
considered necessary for the agriculture of e
21" century ? i
[A) Multi-lateral farming system {A) FgwFn = w5
(B) Mechanization of agricultural practice (B) F=iwT Ty R
(C) Ecologeal agriculture system (C) mfrefasra iy ugfd
[D) co-operative agriculture system o a =
46. The Kalinga war was found in which i : b G
inscription of Asholea? 46, 3w W fae faees | T S g5 F =Ean
(A) 13= (B 12 w1 7l 37
(C) 11 o} 4
47. Which of the following was not the capital (A) IF“. i
of Vijaynagar dynasty? ) 1= () e i "
(4] Anegondi {B) Chandragiri 47. fA=TT mEe T e 8 FE o -
[C) Penukonda (D) Kanchi (A} sFmTE [B) ==
48. Which ruler had awarded the murderer of (C] = F o) T
Abul Fazal ? 2 Z
[A] Alkhar (B) Aurangzcb 48, fam e A aﬁ?—fmmma‘l wreha TR p?
[C) Jahangir {0 Shahjahan (A) =T (B =T
49. The development of railways was maximum ( i} =T in]] R
in the reipn of which G 23 = 3
{A] Cornwallis =iz W # W R W S #
[C] Lord Curzon —  FETE H EifaE g
50. Which of the follo (A) FrETE [B) =iz
Rat Poison? Eer ]
[A) Sodium phos ; “:} o o e
: ﬂwmqimiﬁﬂmﬁm
51, i, HF i P
o W B R 7
52
m N E 7
o= & o A
{C) From 293 g ik A
(D) From 2'?"39 to 30°55" Morth {B) 243749 27" 28" 3™
54. Study of tecth is known as (C) 29°20'9 31° 30" I3
[A) Gastrocnterology PP g
B S - L,
ogy : ST g
D] Odontology [A) T (B} =rEifafzsn
55. Which Vitamin is present in our body from [C) T \D} e
childhood ? 4 3 L i
[A] Vitamin B, (B Vitamin B, 55. FR-m @R T99 5 T T T H HeE e e
[C)] Vitamin A [0} Vitamin C (&) Faf B, B f3afA B,
56. Latitudinal extension of Haryana is __ jC) fa=faT A (D} f3=fms C
[A) From 28"39° to 3055 S6.  FfEmm = S e
[B] From 27°39" to 30°55 2 : 5
[{C)] From 27°40' to 30°57 |A] 28739'H 30° 50°(B) 2739 9 30° 35
[ From 30°39° to 27°55 {C) 27°40' % 30° 51' (D} 30°39'¥ 27° 55
57. Which?ia the highl.‘al: Literacy award of the 57. #Fm |\ HEE F=H WA TR qﬁ,—.r_m ﬁ 7
[A] Nobel Prize (B Booker Prize () A o B) T goEm
(C) Pulitzer Prize (D) Magsaysay award [C) gFfe=t g (o) B gmFw
|
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58. Longitudinal extension of Haryana is _ | 58, #famn w3 = dywsig oo
[A] Between 74°28' to 77°36" East longitude FLe S @ 7T 36 e &
[B] Between 74°28' to 78°36 East longitude Al ?4“25.@_ f'wfﬁ.ﬂ_ =
[C) Between 71°28' to 77°36' East longitude (B) 7428 ¥ 2@ 787 36 H e E W
(D) Between 77°28' to 8428 East longitude (C) 71728 + T 9 777 36 H I F
59. When was Lord Buddha Born ? (D) 77728 ¥ 3w 4 84° 28 H# 2§ 7
[A) 586BC (B 1000 BC S SEH
[C)] 560BC D) 623BC . 1 W i
&0. What is the area of Haryana state ? (A4) 58631 (B) 1000%%
(A] 41211 sq.lem [B) 44212 aqg.km [C) 560 %% D) 62359
[C) 41222 sq.km (D) 44121 sq.km 60. THAT T3 T OETES A E 7
6l. In India, Inflatlnr! measured by the (Al 41211 T 50 (B) 44212 T 5
[A] Wholesale price Index number i ek PR
(B] Consumera price Index for urban non- 1) _41222 i F [} Aek2]1 =
manual workers 61. WA H T % F g Hw o= E 7
[C] National im: Deflation ) (A] oIF T gEEE T
D) Eﬂ“’r‘iﬂ“’;‘“mm‘“'“ﬂ“m“ﬂmdm“ (B) wEh sfa stisi & fou sy 579
62, How high is the plain of Haryana above sea T
level ? S e T T W SRR
[A) 700 to 000 feet ' sFFl & fm sTEE T gIEE
8 et ol ik i I
[C)] 750 to 80 fer R "
(D} ‘900 to 1100 fi
63. Which film has 700 § 900 %12 (B) 800 ¥ 1000 ®iF
for the best 4 3880 FE m}gmnuocHﬁE
Internaticnal Film He -
[A] Chhaya
[C} Phum Shang
64, Which one of gh
North Eastern gic
G35,
: (A]_TETTave s
18]} _Nmnnmu_ Assam (C) T, T5E oy qznm. ELl
G, ::"J'nch a‘t:ﬂ: ia situated in South East of 66. AT % - § TE-m wE aEEE E 7
[A] Delhi ) foed (B) =
(B] Rajasthan (C) foH=a w3 D} ==t 93m
[C) Himachal Pradesh 67. WA 3F HER F 99 a9 fEAyeA fFeE e T4
(D} Uttar Pradesh o
67. The water shed between India and o
MYANMAR is formed by (A) = e [B) 7
(A) Maga Hills [B] The Garo Hills (C) = wersa (D) = i
(C] Khasi Hills 0y Jaintia Hills 68. T wEsE F shwE wAn ©
68. What is the average height of Morni A ]214 H (B 1314 T,
mountaing ? & @
[A] 1214 m B 1314m )_Lae il Lt
[C) 1414 m D) 1514 m 60, feeefAlad @ | TR-0 w98 A, oA T afvwn
6%9. In which of the following article "Right to TR E 7
equality” is provision. g 3
(A] article-14 B article-19 1AL e - 38 o s s
[C] article-20 D) article-21 IC] =g® - 20 (D} ={=e - 11
|
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70. In which part of Harvana state the Shivalik | 70, #fgmn & {9 9m 9 fSf=F o= sfeg g £ 7
Mountain situated 2
[A] North-West (B North-East 1A} -eeA ) sl
[C] South-West D} South-East (C) Fm-wfeTdt (D) FWerm-ed
71l. 'Whohad started the operation flood (1970)? | 71, swws v FEEH (1970) F fF5 00 &5 @)
[A] The Ministry of Agriculture and Rural {A] Ffy w3 wEm A S
Development .
{B) Warld Food Organisation {B) Tavd =m wmes
[C) Mational Dairy Development Board {C) T 29T fEm =
(D) Haryana Government T T
72. The Manchester of North India is __ o) Lo
{A) Ghaziahad [B) Modi Nagar T2, F-WEA T AT FE AL
[C) Muradabad [0} Kanpur (A) mf=REE {B] HrEFT H
73. Which one of the following state is in the (C) Hu=rEE = (D) e &
Westob e ¥ 73, F A G - R R F e A s 62
[A) Punjab )
(B] Rajasthan [A) =4 [B] =
[C) Uttar Pradesh (C) == w=m D) Temrs w=m
(D] Himachal Pradesh v A RS FE A E 7
74. Who is the prophet =5 5
(A} Dayananda S 4 5 B = ]
(B) Shri Ramkrisk |C) 7= TRERS T (O = T
[C) Raja Rammao mwmwmﬁqmﬂ#mﬂ. ..... . E
[ Swami Vivek
73. The minimum a f 25 - B 214
council is ..... A
[A) 25 years o A 2
[C] 30 years
Th. Judu:lal review of
[AJ on the ruls
(B] Due process
[C] Om the pro N
D) Fo v -
77. What is
carat gold 7
[A] 100% =i o 2
iC) 75% _ A dw
78. Who of the following A.urangzch sent to e Y o ?
defeat chhatrapati Shivaji ? (A) T =EE foE (B) = WA foE
[A) Raja Jaswant Singh
(B) Raja M Singh IC}WW W (D) = F9 6
[C] Raja Bhagwan Das 70. TR F aFA F A9 oW e
[D) Raja Jai Singh TFEEE
T9. Who was the ruller at the times of Nadir ()
Shah's invasion of Delhi ? ) e v
{A) Muhammdshah {C) e e
[B] Bahadur Shah R A
[C] Alamgir 11 o) .
(0 Shah Alam-II 80. RO w Fowren | 9= 10 F AT A
BD. In which of the following recommendation fFaT fawfe o F1 T
is Haryana state eatablished on | November
LR {A) T e
{A] Lal Bahadur Shastri (B) ¥=n md
(B] Indira Gandhi W A
{C] Sardar Hukam Singh © i
(O] Sir Choturam D) =% wEH
|
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8l ‘fAoEngsE el Directions [(}). Nos. 91 and 92) Select the one
. which best expresses the same sentence in
[A) =@ ! [B) =7 | Indirect speech.
[C)fa ! o) 7% ! Q1. :‘ah:;na.:}iﬂ:{mmc If I hear any news, I'll
82. 'mE = = F AE T W\ e ey |A] Pawan told me that if he heard any
= T T v A A f Ehes, Wil
(A) A (B Pawan told me that if he will hear any
(B) WA Ff T Www A A E news, he will phone me
(C) 3od T =ifEd 9ET T T afew afed o {C} Pawan told me that if he had heard any
3 news, he would phone me
(D} Pawan told me that if he heard any
(D) Sed = 89 9g7 S w1 oafaE A BT news, he would
-4 i 92. The teacher said to Mahesh, "Congratulatons!
83, oF {Fur T 7 9 9w Wil v aricnensins TS
fagm (B samSEs iy {A] The teacher co tulated Mahesh and
[A) TEES (E) ngra
e = said wish you success in life
s i (D) ¥ % F (B] The teacher wished congratulations
B4. Toeafimd ® @ 6w W= B T s ¢ 7 and success in life to Mahesh
[A] =Fm [BjwfEEm - . = =) The teacher said congratulations to
e s = = = mahesh and wished him success in life
[C) = k- == (¥ The teacher congratulated Mahesh and
85. Tariofad deem- wished him success in life
Directions [(}. Nos. 93 and 94) Find out the part
(A T which cunl..EunEl error. If sentence if is error free
i . {A)/ arriving
B6. WA (GO} T error (D).
jA) =T T A e b E.E].'I.I:!I' [A})f enter
tetudent got up. (C)f
Choose the most
cstioms,
h garden
t o
B7. =tland ... does
ither
B8. ’'May be passed for payment' 7 FFEE t 97. Antonym of aum::pt:blc ia
{A) wAmE T = |A) incredible (Bl immune
b . [C) predictabled {0 unpredidctable
[B) = Y - = 98. Synonym of prognosis is
[C) ¥R F f&u oifid {5 =m |A) diagnosis (B} forecast
o T T = {C) preface (D) idenfifty
@) feve, Y i 99.  Out task had been completed before sunset.
BO. W mF ) EEm T Correct Active Voice will be
[A) WE - s (B) 7@ + {A] We completed our task before sunaet
3 g W R B8] We have completed our task before sunset
() 4 D) fft - &n |C) We complete our task before sunset
90. WE W W A {0} We had completed our task hefore sunset
[A) HiEA = wiEE AT o= T 100. The boy laughed at the beggar correct
pasgsive voice will be :
(B) 5133 sin Wi F1 W= § {A) The begger was laughed by the boy
(C) <7 3 e i uie o= f [B] The bepgar was being laughed at by the bay
=i i wle T T IC) X b wom. boingg hexnighocd it by the by
®) (D} The beggar was launghed at by the boy
|
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